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QUESTION 1

The property set for each test object is created and maintained byQuickTest. 

A. Smart Identification Object 

B. Run-Time Object 

C. Assistive Object 

D. Test Object 

Correct Answer: D 

 

QUESTION 2

If the information pane is not open, QTP cannot open it automatically in case a syntax error is detected. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

The tab enables us to run a line of script to set or modify the current value of a variable or VBScript object in our test or
function library. 

A. View 

B. Current 

C. Command 

D. Variable 

Correct Answer: C 

 

QUESTION 4

We can open and work on. 

A. Multiple function libraries simultaneously 

B. Nine function libraries simultaneously 

C. One function library at a time 
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D. Two function libraries simultaneously 

Correct Answer: A 

 

QUESTION 5

The runs only the current line of the script. When the current line calls a method, the method is performed in its entirety,
but is not displayed in the view. 

A. Step Into 

B. Step Till 

C. Step Over 

D. Step Out 

Correct Answer: C 
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